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Christmas 
1. Read the text and draw the pictures 

a) There is one big brown window next to the tree. 

b) There is one big yellow star on the tree. 

c) There are five small presents under the tree. 

d) There are two big red present under the window. 

e) There is one green stocking next to the tree on the left. 

 

 

 

 

2. Read the story and than write if the statements are T (true) or F (false). 

Once upon the time on the North Pole live Santa Claus and his 

friend Rudolph. Santa Claus is an old man who brings the 

presents at Christmas.  His friend Rudolph is a reindeer. He is 

the reindeer with the red nose . Santa don´t use a car, he uses the 



 

 

sleigh with reindeers. Rudolph is the major reindeer. His red nose is very 

important. It shows Santa the way to children´s houses. Santa Claus comes down 

the chimney and leaves the presents under the Christmas tree or he puts the small 

presents into the stocking. People prepare small snack for Santa and his friend 

Rudolph too. They prepare a glass of milk and biscuits for Santa Claus and carrots 

for reideers. They put it on the fireplace. Children get up very early to open their 

present on the 25th December. 

a) Christmas ends on 24th December.    T F 

b) Santa Claus rides on the bike.     T F 

c) Children get up very early.     T F 

d) Santa Claus lives in New York.    T F 

e) People prepare milk and pudding for Santa.  T F 

f) They prepare carrots for reindeers.    T F 

g) The major reindeer is Rudolph.    T F 

h) Rudolph´s nose is red because he is ill.   T F 

i) Rudolph´s nose is not red.     T F 

j) Santa Claus puts small presents into stockings.  T F 

k) Santa Claus is the prezident of the Czech Republic. T F 

l) Santa is a young man.      T F 

m) Santa Claus and reindeers hate Christmas.   T F 

n) Santa uses sleigh.      T F 

 

 

 



 

 

  

 

3. Complete the missing letters and than find these Christmas words in the 

crossword. 

1. R U _ O _ PH  

2. C _  RIS _ MA _   

3. ST _ C _ I _ G 

4. S _ N _  _   C _ AUS 

5. PR _  S _  NT   

6. T  _ R  _ EY 

7. RE _ ND _ ER                      

8. PU _  _IN _  

 

L V R R S P M S J C 

M A E H T U J A R H 

I R I A U D Q N H R 

H T N P    R D N T I I 

Z I D E K I L A S S 

P R E S E N    T C T T 

M U E I Y G Q L O M 

A T R W U Y Z A R A 

G E H P L O D U R S 

G N I K C O T S L N 
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